W

st - b O
fa-a O

€3 -9 L

[P S

s -o b
S{g-c‘wc\o
QSCF*O")Q.ng
g -b5:4A O
$3 - eyb b
ﬂfO‘ASC :

O nelvn e ON%QM o\

Jk

SR

'L\’»b \&C)(\Q%\L&
Q- oo - P SDANC e T Q

Q2= 6o - aP
W2z Co - 2y
e Po Geua

npo
b %%MU“‘“\\ a. Q- ‘<Rm‘<\~%oj \‘\oh\o\.\og A,

Tuma@b
A TN



Mhe yewe Pogs

) 80~ 98 = 3%

NV BoO- 952~ < 20
960~ 98.8

—_—

= AR
TroSet o

Q‘é\\\\%m RO RN BA O DR NI
Vomo%b\ AAICAIER SN

‘Nom\we BoameXd: \r&%gx%%&am
oM SIts 3 A\g~ 1S . “o’t@_*\*% Ml We 8@8

69‘\&% h0h~@0 3 ngoe (“QNSQ yg,%\(\gggﬂg e
—HQ‘(\(\\DVU;S XS LR WP omifuus e N e

Omem: 48 %

£ %

Urnaona y Rew weolxo %\N\LO WM& AB™M & ang me\\w\cu'u%
GO O L e @Q\\ :
Wetuae s o VAN
{\Q\(Q. ) \
@h& kdia ¢y & jd/’/(,uu@M j@f)OgC(€.

) 600 P & € Luun
VNS0 P 18

kT

[NUTRSY
Y {00 \o 1\ hontacq
?)QQ e ©C h’\&gOk\r\b\ O\ 'Y\Q\\\&C'Q&@‘T tQ/OQF
’C—h'e&%\——@t’ttof o e EEESS a —:,A_‘_\
“)ﬁf&ﬁ&{;:e&ﬁﬁww ?e_m_xew\w\e N |
N 5 6O -Q = gy Mo, (Cane \\Q\“’%Q\Q
@m\\uw‘mﬁ\ 60 N - (eoo \3.
Sk\ NOUUR - 2 5
X = 84 000 _
Co - 300 v
) SO ~1E = Wa Ws (%h& 9. Q&\\QQMA?Q&}
€O WA, — 4900 -
L\')\Nu..uv\,-—-ﬁ_) Yooy BB

s = KO Y



'O - 30 = g wwoa. (%\n& % @Q\\“LWuB g’/g

O NwOr ‘(QOO‘P,
W0 N, %
-
e 30 ©C O
K= ~ SO0 P, ==
GO LY
J—K ene ) o %&“MQ A5 %Q\(\U\W\(\—\ «\ .
N BGOO \) =~  agt ?
D REO P- = Yoo
0 P = Voo P-

é\l&&\\%m %Qk‘(\\xw\m O™\ Q‘(—\Q%\Q\%QQMQ& ne\\%bk&(}: . I
OmCem: & oo ngeneX . & \

U E S
e = 13 Q ?GKD.QQHULG :
TCy= Ql Q ~ ‘Ron~%0 wn.

V) 8h. — ?Wg). Gz 10 Bo-

Tees la- 10 = 130

Q
T 19 = 4o

R0+ oo = 490-u




9. Coms oMfeme W fyakauene
Q

(Q\\&cso&o\\xo‘\e ~ K CM%\\M Q‘K\N‘” S
W HOR T ok Q4 %

A hojss %

1 \\Q\u&x& %

2 &QN’Y ke \\‘QM%QW Q;Q % T\\'\O\VB . Qe

Y%GU&Q& ~NWOoNe % UY\K\&RQ Q,&MLS\‘\MA&qQL %
\\VO\“&“Q’Q m\memo% % Q\\Nw. QZ

O+ One Qmu%\gw’. MO AMO =8O - rgowenone  (()

20 - ouwewn
L0+ 0 =

« Dol @k\\lwﬁ S SES QY = K8 ~ Ygommomene

‘{2‘\*%@; = AN B&QN\\WQ Q\\UQ&IRUJL
- (areay - (a0+3€) + Clodag) < 13y 0
* TRy gy — 84 LI TP Q

PrRaona



W TR0
‘j CQMCS/\MM /IV\.K. CMue oy T (40 po ) D;E) )
Pk \Afvmw),& % i\f,owiﬂro%u%& Ui A W
Wy wer 0 4 hp i ¢ 96 RO Outuaroe O

%B DT taue OT Camgw KMMM“‘J))
b) /} %40‘0 :'{;wkfo-/\for/\ﬁ?;\umr U 0 o g,
. o ASOT  Mlhiimass
'L) AM L= g W 0lOuno s

36.{136
3) &CQ&O P/L;sbz/&% =

Ml
4) 88 - (Lo o) Ry o ko g

-l o g o SN
/t;‘;&/&'& ‘/fé\/\—$%)7(40-l/b0, U0 Ao tr s C/(;%MJQ g-
o) Pq =y
P()": 4(%)
e 5

P\A "1“L§KTB







160 1] 180 r O
. J O TRL LI
5-0 O 13 100&"’0
v. b O 1 W% D
5 q & 15. 220 4
tabed D
ad =
g. L A
5.0d Q
10.¢9 %
Wawwmm
v A
Onlon 9 Mo coma 9f0 W:‘)MW M%}wfltu.ﬂ-y
L)€W~M£>A¢(wcb
L e gdZm nbgy 10,

Crnller 8P wa tueeny lyio S riLoun. %i()ﬂ\,e
/1

QW\ZW\,'O)M.L CMAWWL WW 10, wte tOx  a

ﬁ%zuww/ 2uw542,,,wCa4cg(/wW |
T o g et O
et () Nyt emto §

Q) 209 b TTE L w40ty S gba <> QWM&W
ng,cgow (MR 8010 me KSW

QML UM Cw??wtiz ol €2 10027
43'2'1-:5 Qmﬁp/rn’un A ,../mp/ng -rtf‘.“ e ¢z ){0 (22



g Gy

&
c/) VL
/1/125() : W XZB 2o W WW‘O/‘/
%) o
/{/?r_.a) 3 ﬁ,m Y- Wopq Coeioced gy
A/(?ﬂsvot/b)i/%z M@W&c&/w
v C, % /
” éla[ 3 2/%
va. g,d © ‘ I
;\//)o C/cl ?) . Xgrfé
V11 & e
MM?@ g s 9
Vi3- 640 : }X@js f
W1 2, Xp=gtF MPTWW
V15 f6p~ 712 -
Ux=b6p 72 = P
%, & ‘%721;
o 306
Y
4 ) petettn) - ALy 5 5
Wﬁs W
GOt 27 =67
b T8 = (L My ttyP
i 5%\12%“
, | ~fBorsiy
Heo A4S




Toenroba ecmns Blecs [ 9-17
1) —o W%W%@
Ll = i, iierile %,

3.(¢) O /é>:§;Z
1 rres

s0) AL

6. () i)l 5

1)(d) .

J.(a), (/))/'(C) &

Io) ) ;@) 0

L0, (c)(d) 3
i,y % [/J =l x | erpl

7 x=(o-49
2x‘6é0

7,
y: :%

X = 30,9 O
N1L,

Q/:go-)ﬁ R2= bo-c0
Re=135s Ra=¢p

533 Z & - Yl

(2 = )
2 /s LQ
{2 35 #70- joronp

Wil

{000 _ X
—/ ~—
(o0 20

L%/M/é(’;!/: ;0 Urm

20000 = (0
o 200
= = H00 = 1o0O—7 5o =
700 2 4 o680 (20%)

0

F0%+ 200 = 1o,

100 1o = {oo9,

-~

.' / ©,
Wrnbese’ {00 7o

V13 7,

10OC 0 % 2p & etny

—Z_: '
EX2=13 412+ boo-g 12 &2-13=36 361450 =y 4

- 30 = 50,' s ¥ 0



N5

p A2
11 # (/,\7

AT i 3
///’%/[ 42'21(/)




